EARAROBREBRT —5 XN—ZXBISH—F

2022648158 (&) 20HAE1H

M C2— 1748 HSR4ELE BN R
[xE&] 1&:330,000H  23&:106,000 @  33#&:59,000  43%&:40,000H  53&:26,000H
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= A : -7-6- - DB (1£8)
1 6 QDXT’rT 4t 4 F30 1.(3_3).4 7-7-6-3 40.3 3 (4_021) E%g*ﬂ =)
R:D—URI—-R B:bL/TU—T o N
» Y 5 | HKEA 1:33.5 6-5-5-4 | 40.6 | — 5 472 | HIES (£8)
21717 | 7—E9— 56.0 /2 o |EEE-
Rib—trya—sy B:A4V9T7« /=Y Tr—I
EE : -1-1- - HHEBEF (8
IREZE e e # 5 | pUE 1.(363.7 1-1-1-1 | 43.6 4 (5+117) et (£29)
R:Va—hnrF—/ #:7-A0A(H—R JO0-U—J7—LA
4 | BllEF 1:35.3 3-3-2-2 |43.6| -— 1 556 | G/IIEX (EE)
4|5|5| hoAdboF " 56.0 ) “n |.@® J P N2
RiZvF—74) B:OA4VILIT7VII— #HEI77—LA
» < HPEA : -2-3- - FHHEEAIE (%)
5By 2| TURLA M= "0 [ I R Il e
Rivrhivd B:IAIXIXOF«— &%=
. RIAFIAR : -6-7- - WiHie (E8E)
elals|vA7EES 8 4 L 1.(326;.5 5-6-7-7 | 43.0 7 ‘:3)9 jl:ﬁ;E
RIN—EVYIv— 8:FRN J—YYT7—L
. 4 | SE 1:36.9 8-8-8-8 | 42.9| - 6 | 465 |BIIEX (L)
7Y 4 | RAFIAFT "] s @ Oy | @ PNz
R:RwSXYF B:E/ TSV EvIUy RI7—LA
g t 5 | AR 1:36.9 4-4-4-6 | 44.9| — 2 477 | FEBT (£8)
8 3NNV TATA7F 4 54.0 &) “2) YUTYLEE ()
R:FVIARZ S #:0YFVITITU— 730V BEiE
@ 11— —BBIEfI
10—+— 1,2,5,3,8,7,6,4
20—F— 1,2,5,3,7,8,6,4
330—73— |[1,5,2,3,7,6,8,4
43— — 1,5,6,7,2,3,8,4
o ILRE
B B 6 450/ JA R 6-7 350 B E 6-7 1,320 3EE 1-6-7 1,940
7B B 6 170/ 1-6 330 =51 6-7 1,820 3EH 6-7-1 9,600
7 180H 1-7 560/
1 130

ABIC OV TRUTEREERRODDZE. THRIIZEL.




